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Tick the correct answer.

(1) Which is NOT a means of communication?

(a) telephone

(b) books

(c) table

Answer: c

(i) Which type of road is constructed under the ground?
(a) fly over

(b) expressways

(c) subways

Answer: c

(ili) Which mode of transport is most suitable to reach an island?
(a) ship

(b) train

(c) car

Answer: a

(iv) Which vehicle does not pollute the environment
(a) cycle

(b) bus

(c) aeroplane

Answer: a

3. Match the following.

(i) Internet (a) areas where people are
engaged in manufacturing,
trade and services

(i) Canal (b) closely built area of
route houses



(iii) Urban
areas

(iv) Compact
settlement

Solution:

(i) Internet

(i) Canal
route

(iii) Urban
areas

(iv) Compact
settlement

(c) houses on stilts

(d) inland waterway

(e) a means of
communication

(e) a means of
communication

(d) inland waterway

(a) areas where people are
engaged in manufacturing,
trade and services

(b) closely built area of
houses
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